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PART — A: Answer any TEN Questions, Each Question Carries 10 Marks (10x10=100 Marks)

. (8 Convert the binary number (110101001011,101)z to hexadecimal number
(b) Convert the decimal number (1246.225);3 into octal number i
Z. (a). Perform BCD addition (8910 + (47 i
(b). Convert the following
(1). Binary number (11001110 10 Gray code number
(i1). Gray code number (01011101) to Binary number
2

2. Obtain the minimal product of sum (POS) form expression for the Function using K-MAP
F = [1M(0,1,2,4,5,9,13,14,15) + d(8,10,11,12). (10 M)

4. Design a4 X 2 priority encoder, with the inputs in the following order: Dy > Dy = Dy > Dy. (10 M)

5. Design 5 X 32 decoder using 2 X 4 and 1 X 2 decoders. Note that 2 X 4 decoders should be more than 1 X 2
decoders (10 M)

6. Implement the Boolean function using 8 X | Multiplexer f(A,B,C.D) = ABCD + AD + ABD +
BC. Note that B, C, Darelo he treated as selection line inputs and A 15 10 be treated as data mput 1o
the Multiplexer. (10 M)

7. Based on the truth-table for the given M N Flip flop, determine the characteristic table and excitation table.

Given the necessary logical expressions. In addition. convert M N flip flop to T flip flop. (10 M)
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11. (a). Design PLA for the Boolean Functions listed below:
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(10 M)

9. Design the synchronous counter which goes through the sequence as shown below using T flip-flop

D—> 3 —>2 —»1—»4—5—27—>6—10

(10 M)

10. Design a combinational circuit using PROM for the following Boolean expressions: (10 M)
F1(A,B,C) = ABC 4+ ABC + ABC

F,(A,B,C) = ABC + ABC + ABC

F3(A,B,C) = ABC + ABC + ABC

(10 M)
X (A, B, C)=X(2,4,5,6)
Y(A,BC)=X£(0,1,3,7)
(b). Design PAL for the Boolean Functions listed below:
X(A,BC=E(1,6,7)
Y (A,B, C)=X (0,2,3,5)

}2. Design a CMOS Logic Circuit for the following Boolean function.

(10 M)
. Y = (A + B)(C+ D.E)

i Y=A(B+C+D)+E




